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CHAPTERG
THE JUNK SELLER
Ques.1 Find out:-
Tt S
a) A quarter of Rs. 500 = Rs.
Loo TU HT TTATI .
b) Half of Rs. 1500 = Rs.
3400 THT T4, .
c) Double of Rs. = Rs.500
T T AT = Yoo TG
d) 9xRs. 4.50 = Rs.
RX ¥.40 =, :
e) 6 XxRs. 50+ 4 Rs. 100 = Rs.
& X Lo BT + ¥ X 00 TUY =,
Ques.2 Solve these:-
A A
a) 750G + G =2 Kag.
o T + o1 = R ferm
b) 100 G =10Kag.
200 Ylo X WOZZO%I,T[O‘
c) 450 G+500G = Kag.
¥ 4o Yo + Yoo Yo = TTo ‘
d) 700G + Kg + 300 G ==5 Kg.
\9o0 Yro + ?m"l;lTo-i-‘\ioo‘l;no:L\]Qq,"l;n‘
e) 2x500G +4 Kg =13 Kg.
R X Loo Yo + ¥ X Wo=23mo|

Ques.3 Ramu earns Rs. 90 in a day, how much he will earn
T U TG 7 R0 TUA FHHIAT €, I8 Toha TU HATE |
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a) In5 days ==Rs.
Wi d

b) In 10 days == Rs.
R0 Te A |

¢) Ina April month ==Rs.
Teh HeH | (3T0eT)

Ques.4 Look up the rate list and find out the
cost of the junk?
T Gier St S, T HaTe =hl A I it ?

a) Cost of 38 Kg newspaper
3¢ U0 3T@ER

b) Cost of 28 Kg plastic
3¢ Tohrmo e

c) Cost of 16 Kg iron
2& TeRaITo iRt

d) Cost of 3 Kg brass
3 fopmmo dierer

e) Cost of 4.5 Kg aluminum
.4 foRtlTo 3o 1aH

Rate — list
Kind of junk price per Kg

1. Iron Rs. 12/-
2. Newspaper Rs. 6/-
3. Waste paperRs. 5/-
4. Brass Rs. 200/-
5. Plastic Rs. 10/-

6. Aluminum Rs. 90/-

f) Whose cost will be greater- 3 Kg aluminum or 2 Kg of brass?

TREeh! I AT &1 - 3 feoRtiTo STy AT R feRurmo didet ?

g) Whose cost will be lesser- 4 Kg iron or 8Kg waste paper?

forreRt T °H BTN 3 ¥ TohtlTo witeT AT ¢ Tohumo & h1irst ?

Ques.5 How many times can you.

TereT IR 31T T
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a) Subtract 12 from 108
Ro¢ H ¥ 83 I TeT
b) Add 18 to make 216
8¢ T AN 28 T o (10
c) Multiply 9 to make 729
R T TUM W% T & foTg
d) Subtract 14 from 196
RR& | ¥ ¥ I T

Ques.6 Solve the following:-

=T =t &t -

a) If 28 + 72 =100, then 720 + 280
IS ¢ + 193 = 200 AT W0 + I¢0 =
b) 6000 + 60 + 6 =
§ooo + Go + § =
c) 55x55 = 55x +55 x10.
LY X bl = 44 X + 44 X 20
d) 3x350 = 700 +
3 X 3Yo =\goo X
e) 1week X7 = days.
L IE X 9 = 551

Ques.7

a) 15 time 30 is 450, then 15 time 35 :
WU IAT 30 =¥Yo EaAT U TATIN=__

b) 10 time 20 is 200, then 10 time 28 :
QIATR0 =00 T AT TAMRC=__

Ques.8 Binu gives 5 time 50 rupee note to tinu. How much money he gave

to tinu?

S A I 1 T AR Yo T % 12 fT | 36 2 i et feha TRt T ?

Downloaded from www.studiestoday.com



Downloaded from www.studiestoday.com

Ques.9 Reena wants to arrange her 5 rupee note, 2 ten rupee note 20 rupee
note, 50 rupee note, 100 rupee note, 500 rupee note, help her to

T 3T TS Y U T A1, T R0 TYF & A1 R R0 YT I AL, Th Yo T
T T, Teh 200 TUF T A SR Teh Loo U o I e hiT Tl &
3! AET it |

a) Arrange in ascending order.
& A o [oT0:-

b) Arrange in descending order.
T ShH o foTd: -

c) Find the note placed at 5" position starting from 5 rupee
note :
IS W T I[S (Rl ST off UTerell ST UR i< T A1 ST |

Ques.10 See the table and give your answers:-
g T TEH ST [T~

I. Who paid lesser amount?

Toha W YT 37T &0t ?
I1. Who paid greater amount and how much? Name Loan loan
TohemT 31fereh T o7aT ot ? taken paid in 6 months
II. What will be their monthly installments?
ST =6t Hfet e fepe fepeit i 7 Debu Rs.1800/-  Rs. 1830/-
Kali Rs. 1800/-  Rs. 2100/-
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ANSWERS

Ans.1
a) Rs. 125
b) Rs. 750
c) Rs. 250
d) Rs. 40.50
e) Rs. 700

Ans.2
a) 1250 G
b) 100 G
c) 950G
d) 4Kg
e) 3Kg

Ans.3
a) Rs.450
b) Rs.900
¢) Rs. 2700

Ans.4
a) Rs. 228
b) Rs. 280
c) Rs. 192
d) Rs. 600
e) Rs. 405
f) Brass
g) Iron

Ans.5
a) 9
b) 12
c) 3
d) 14

Ans.6
a) 1000
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b) 6066
c) 45
d) 350
e) 49

Ans.7
a) 525
b) 280

Ans.8 Rs. 250
Ans.9

a) 5,10,10, 20, 50, 100, 500.
b) 500, 100, 50, 20, 10, 10, 5.

¢) 100

Ans.10
a) Debu
b) Kali—Rs. 300.
c) Debu - Rs.305.
d) Kali - Rs. 350.
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